Project: Pavement Resurfacing - Lockwood Valley Road (West) Spec. No. RD22-09 Abstract of Bids opened on May 5, 2022

ENGINEER'S ESTIMATE: 5,500,000.00

LOW BIDDER - Griffith Company Bakersfield, CA 93308	5,582,735.00
2nd Bidder - Toro Enterprises, Inc. Oxnard, CA 93036	5,626,887.50
3rd Bidder - Granite Construction Company Bakersfield, CA 93308	5,632,165.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, County of Ventura, at the time and place designated in the Notice Inviting Bids, were publicly opened, read, and were checked.

Director, Engineering Services Department

Bids o	pened on May 5, 2022			ENGINEER'S	ESTIMATE	LOW BIDDER	
Projec	t: Pavement Resurfacing - Lockwood Valley Road (V					Griffith Company	
						1128 Carrier Parkway Ave.	
						Bakersfield, CA 9	3308
	Spec. No. RD22-09						
ITEM							
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	114,169.00	114,169.00	402,332.00	402,332.00
2	Traffic Control & Construction Signing	LS	1	103,268.00	103,268.00	400,000.00	400,000.00
3	Senate Bill (SB1) Sign	EA	2	2,000.00	4,000.00	650.00	1,300.00
4	Water Pollution Control	LS	1	10,000.00	10,000.00	2,000.00	2,000.00
5	Cold Milling (5' Wide)	LF	2795	8.00	22,360.00	6.00	16,770.00
6	Seal Coat	LF	2760	3.50	9,660.00	1.00	2,760,00
7	AC Berm Rehabilitation	LF	1060	13.00	13,780.00	20.00	21,200.00
8	AC Taper With Key	SF	6050	6.00	36,300.00	1.30	7,865.00
9	Asphalt Rubber Aggregate Membrane (ARAM)	SY	250112	6.00	1,500,672.00	4.00	1,000,448.00
10	A C Hot Mix (ACHM) with Fiber Reinforcement	TN	22000	133.00	2,926,000.00	126.00	2,772,000.00
11	PMB Shoulder Backing	MI	33.5	8,000.00	268,000.00	8,600.00	288,100.00
12	Centerline Rumble Strips	MI	16.4	1,750.00	28,700.00	3,550.00	58,220.00
13	High Friction Surface Treatment	SY	11533	30.00	345,990.00	33.00	380,589.00
14	Remove Existing Sign & Post	EA	1	100.00	100.00	150.00	150.00
15	Install Sign Assembly & Post	EA	40	350.00	14,000.00	425.00	17,000.00
16	Log & Inventory Signs	LS	1	3,000.00	3,000.00	2,000.00	2,000.00
17	Pavement Delineation, Striping & Signing	LS	1	100,000.00	100,000.00	210,000.00	210,000.00
18	Release on Contract	LS	1	1.00	1.00	1.00	1.00
	TOTAL			,	5,500,000.00		5,582,735.00

Bids o	Bids opened on May 5, 2022 2nd Bidder		3rd Bidder		
Projec	t: Pavement Resurfacing - Lockwood Valley Road (V	Toro Enterprises, I	nc.	Granite Construction	n Company
1		P.O. Box 6285		3005 James Road	
		Oxnard, CA 93036	1	Bakersfield, CA 933	308
	Spec. No. RD22-09				
ITEM	I				
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	190,000.00	190,000.00	480,000.00	480,000.00
2	Traffic Control & Construction Signing	295,000.00	295,000.00	400,000.00	400,000.00
3	Senate Bill (SB1) Sign	600.00	1,200.00	650.00	1,300,00
4	Water Pollution Control	10,000.00	10,000.00	10,000.00	10,000.00
5	Cold Milling (5' Wide)	6.00	16,770.00	6.00	16,770.00
6	Seal Coat	1.20	3,312.00	2.00	5,520.00
7	AC Berm Rehabilitation	13.00	13,780.00	15.00	15,900.00
8	AC Taper With Key	0.90	5,445.00	4.00	24,200.00
9	Asphalt Rubber Aggregate Membrane (ARAM)	4.50	1,125,504.00	4.50	1,125,504.00
10	A C Hot Mix (ACHM) with Fiber Reinforcement	128.00	2,816,000.00	110.00	2,420,000.00
11	PMB Shoulder Backing	13,500.00	452,250.00	11,000.00	368,500.00
12	Centerline Rumble Strips	2,950.00	48,380.00	3,500.00	57,400.00
13	High Friction Surface Treatment	36.50	420,954.50	40.00	461,320.00
14	Remove Existing Sign & Post	341.00	341,00	250.00	250.00
15	Install Sign Assembly & Post	310.00	12,400.00	450.00	18,000.00
16	Log & Inventory Signs	1,550.00	1,550.00	2,500.00	2,500.00
17	Pavement Delineation, Striping & Signing	214,000.00	214,000.00	225,000.00	225,000.00
18	Release on Contract	1.00	1.00	1.00	1.00
	TOTAL		5,626,887.50		5,632,165.00

rom unit price M=Modified b bidder

Bids opened on May 5, 2022		4th Bidder		
Projec	t: Pavement Resurfacing - Lockwood Valley Road (V	4:		
	Spec. No. RD22-09			
ITEM				
NO.	iTEMi	UNIT PRICE	TOTAL	
1	Mobilization		-	
2	Traffic Control & Construction Signing		=1	
3	Senate Bill (SB1) Sign		=	
4	Water Pollution Control		=	
5	Cold Milling (5' Wide)		*:	
6	Seal Coat		129	
7	AC Berm Rehabilitation		15.	
8	AC Taper With Key			
9	Asphalt Rubber Aggregate Membrane (ARAM)		369	
10	A C Hot Mix (ACHM) with Fiber Reinforcement			
11	PMB Shoulder Backing			
12	Centerline Rumble Strips			
13	High Friction Surface Treatment		(-	
14	Remove Existing Sign & Post			
15	Install Sign Assembly & Post		(%)	
16	Log & Inventory Signs		150	
17	Pavement Delineation, Striping & Signing		0.46	
18	Release on Contract		19	
	TOTAL		0.00	

PROPOSAL

Contractor's Name Grit	fith Company
------------------------	--------------

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor (PとS)	Contractor's License Number	Business Address	Items of Work
Pavement recycling Systems	569352 DIK#100003363	10 zto San Sevaine Yurupa Valtey Ct	57,8p-Operated Cold Planer (PUTTION)
١.	11	'ι,	Vumble machine
onstructors	1011546 C	2990 Bay Vista G Benicia Ct	17-MOBILIZATION 13- HPST
ASPHAIT DIKE	283095 DIK# 100004858	Goshen CA	Machine (portu
Merican Yavemen	* all 2-1012	1612 NST Modesto, CA	2P-Traffic Control(port
			9p-ARAM (portion
If more space is needed		240 Quail CT Santa Paula, CA	3,14,15,17 Striping &

ore space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.

Spec. No.RD22-09 Project No. 50612

PROPOSAL

Contractor's Name TORO ENTERPRISES.INC.

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
AMERICAN PAVEMENT SYSTEMS, INC.	943792	1012 11th STREET MODESTO, CA 95354	9 - ARAM
PAVEMENT RECYCLING SYSTEMS, INC.	569352	10240 SAN SERVAINE WAY #1100 JURUPA VALLEY, CA 91752	
TRUESDELL CORPORATION OF CALIFORNIA, INC.	615058	1310 W. 23rd STREET TEMPE, AZ 85282	24 13 HFST
		*	

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.